
 
  



 
  



Day 5 (5-a-day) 

 

Type the URL into google and watch the following YouTube video: 

 
https://youtu.be/n0FZhQ_GkKw 

 
 

 
 

 

Answer the following questions: 

 

1. What is a denominator? 

_______________________________________________

_______________________________________________ 

 

2. What is a numerator? 

_______________________________________________

_______________________________________________ 

 

 

 

https://youtu.be/n0FZhQ_GkKw


Task one: Identifying fractions 

 
 

 

1. Write what fraction of the pizzas remains. 

 

 

 

 

 
 

2. What fractions of the apples are green?  

 

 

 

 

 

 

 

3. This chocolate bar has 12 pieces in total. I want to 

share it equally between three people.  

 

How many pieces of the chocolate bar will each person 

get? Write your answer as a fraction.  

 
 

 

 

 



Task two: Adding Fractions 

 

When adding fractions with the same denominator, the denominator 

stays the same. Therefore, we focus on the numerator when adding 

two fractions together.  

 

For example:  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Have a go at adding fractions together on the next page. 

 

 



 



Task three: Subtracting fractions 

 

When subtracting fractions with the same denominator, we focus on 

the numerator and leave the denominators as they are.  

 

For example: 

 

 
 

 
Have a go at subtracting fractions with the same denominator on the 

next page.  

 



 
 

 

 

  

 





 
 

 

 

Day 5:  

 
the denominator represents the number of equal parts in a whole 
 
the numerator represents how many parts being considered. 
 

 
 



Task one:  
 

1. A. ½  

 

B. 
2

4
 or ½  

 

C. 
4

8
 or ½  

 

2. 
4

5
 

 

3. 
4

12
  

 

Task two:  

 

1. 
1

3
 + 

1

3
 = 

2

3
 

 

2. 
2

8
 + 

5

8
 = 

7

8
 

 
 

3. 
2

6
 + 

1

6
 = 

3

6
 

 

4. 
1

4
 + 

1

4
 = 

2

4
 

 

5. 
2

4
 + 

1

4
 = 

3

4
 

 
 

6. 
2

6
 + 

3

6
 = 

5

6
 

 

7. 
3

8
 + 

2

8
 = 

5

8
 

 

8. 
2

6
 + 

2

6
 = 

4

6
 

 
 

 



Task three: 

 

1. 2/3 

2. 1/7 

3. 3/9 

4. 1/11 

5. 4/9 

 

 

 

 

 

 

 

 

 

 

 


